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Washing C.P. (in Profit% | Loss% | 5.P. (in
Machines Rs.) Rs.)
Samsung 89375 — — 7965.75
LG — 14% — 21375
Videocon 12325 — 18% —
Godrej 10385 — — 14019.75
Panasonic — 24% — 5022
Whirlpool 14360 — — 12924

Q6. YATEfYen aTRIeT HMT T T FHod, AfSAThioA aTRIer AMeT & fasha
Hod I fehclalT Gfaerd &7 (crretan)

(a) 36%
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Q8. MexsT arerer #wMeT W T Gfaerd, Teloll areer #@efe W 9red areT
gfaerd & fehder gfaera 3ife/sa g7
(a) 50% 31T
(b) 150% 31f&rh
(c) 250% A&
(d) 50% &
(e) 150% A §
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Q10.3ef ot / gifel UfcIRret fohcar &2 (efarstan)
(a) 2.1% oITeT
b) 3.1% oITsT
c) 4.1% oImeT
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(e) 2.1% gIfer
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Solutions

S1. Ans.(a)

Required average speed (m/,/sec)

==X (25 + 30 + 40 + 30 + 25 + 20)

=1—-:Jm,'“sec

: 170 _ 18
Required answer = - X7 km/hr

=102 km/hr
Sol. /

S2. Ans.(d)

Average speed of Kolkata Rajdhani on Tuesday & Wednesday
:g % (30 + 40)
=35 m/sec
Average speed of Sealdah Rajdhani on Monday and Wednesday
:g x (20 + 30)
=25 m/sec

35-25

~ Required % = —z X 100=40%
Sol.

S3. Ans.(b)

Let Kolkata Rajdhani takes ‘t' hours to reach Kolkata
~ Time taken by Sealdah Rajdhani=(t+ 4} h

ATQ,

40t =30 (t+ 4)

=t=12h

Sol ~ Required answer = 40 X % ¥ 12=1728 km
Ol.

S4. Ans.(d)



Required difference
= E(an +40+20)-2(25 +35 + 15]]
=30-25
=5 m/sec
=5 X Zkm/hr
Sol.= 18 km/hr

S5. Ans.(e)

Required average speed of Sealdah Rajdhani
==X (20 +25 +30) X =
Sol. =90 km/hr

S6. Ans.(b)

Let cost price of Panasonic washing machine
=x
(100+24)
xX
100

Or, x = 4050

Selling price of Videocon washing machine

= 12325%x 22218 _ 1451065
100

= 50232

Required percentage = 2050 w100 & 40%

Sol 10106.5

S7. Ans.(d)

Original 5.P. = 12325:(% = 10106.5

New S.P = 12325x % = 145435

Sol. Difference = 4437

S8. Ans.(b)

Percentage profit on Godre] washing machine

— 1401?.?5—11]3!35 %100 = 35%
10385

Profit percentage on LG washing machine = 14%

Required percentage

= @xmn = 1509 more

Sol. *



S9. Ans.(a)

Loss percentage on Whirlpool washing machine

_ 14360—-12924 %100 = 10%
14360

Loss percentage on Samsung washing machine

_ 9375—7968.75 %100 = 15%
9375

Reguired Ratio =2 : 3
Sol. ¢

S10. Ans.(b)

Sol.

Overall  cost price of all washing machines
=9375+18750+12325+10385+4050+14360=69245

Overall  selling price of all washing machines

=7968.75+21375+10106.5+14019.75+5022+12924=71416

Profit percentage
__T1416—69245

— 1215799243 100 ~ 3.1% profit

69245

together

together



